
Card Answer

1.     = 

   = 

    =     = 

    =     = 

2.  

2.5, 2.4, 2.3, 2.2, 2.1, 2

1.6, 2, 2.4, 2.8, 3.2

7.5, 7, 6.5, 6, 5.5, 5, 4.5, 4, 3.5, 3, 2.5, 2

3.  

4.  

5.   Which of the calculations have      in the answer?
4 ÷ 10 = 0.4
42 ÷ 100 = 0.42
40 ÷ 100 = 0.4
24 ÷ 10 = 2.4

Which of the calculations have       in the answer?
42 ÷ 100 = 0.42
2 ÷ 100 = 0.02

6.  17: 16.5, 16.6, 16.7, 16.8, 16.9, 17.1, 17.2, 17.3, 17.4
100: 99.5, 99.6, 99.7, 99.8, 99.9, 100.1, 100.2, 100.3, 100.4
6: 5.5, 5.6, 5.7, 5.8, 5.9, 6.1, 6.2, 6.3, 6.4
49: 48.5, 48.6, 48.7, 48.8, 48.9, 49.1, 49.2, 49.3, 49.4

Answers with 2 decimal places may also be given.

7.  multiple answers possible using the answers below:
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8.	 	 £1.00
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